1

fe .

tﬁ‘gﬁﬁﬁﬁmmm

cm‘fﬂmaﬁﬁm

©) IWE e & gw 4fs
TWE T wHEA &

D) YR-Ufaer qiigo weas 7w

g

Fofafegs o 49

N

-
]

(A) faral
(B) foar]

©) 7
(D) ayerad AU

.
2m"‘:“'sln"ics-ﬂ

O
e

(3)

The theory of Multiple intelligenc®
says that:

(A) Intelligence can be rapidly

ncecelerated
(B) Intelligence %ﬁ%cfﬁﬂvernl
kinds % - ~

i
¥
9

on ©
(C) %Z}ldﬁt can be multiplied
Q%l h effective Pedagogy

Y & \
,-;"%._J Paper-Pencil tests are not
ot

helpful

Which one of the following is an

emotion ?

(A) Memory
(B) Fear

(C) Attention

(D) Stimulus

Who gave Social learning theory 7

(A) Skinner

() Pingot
(C) Bruner

BT Albert Bandura

P.T.0,
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Waﬂg
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According to Maslow

lllllllllllllll
s,

needs are to be fulfilled fiyst.
(A) Safety

(B) Esteem

(C) Physiological

"—-‘
(D) Social

Correct formula to caleulate LQ.is:

CA.
(&) A x 100

M.A.

“ C.A.

x 100

M.A.
100

(C) x C.A.

C.A.
) M.A.

th of
Who propounded the (ae0y

'Tﬁnw_ﬂl
(A) Skinner
(B) Gestalt

(C) Pavlov

Dy Tromdike



7. D R SR 36 S T a)g [ 7. Child's tendency to rgSP"“'
ECibe ufa afma wofi d stimulus that are similal

conditioned stimulusis:

(A) e
(B) =y (A) Readiness
(B) Acquisition
(€)W (C) Generalisation
,,.E—Df)" Ferieo (D) Diserimination
/ TF ARfEH wram st wmifes (e | 8 Mental structure that guides so
3) §IF =1 Ffm s T (and other) cognition is called :
(A) 99 (A) Impression
(B) qaiue (B) Prejudice
(C) wnim (C) Schema
(D) 39T W |/ HE (D) None of the above

9. g Wik B4 aret gEA & wad | 9. The stranger role of informati

et & wHoan ¢ _? that comes first is called :
(A) Wi (A) Regression .
(B) WuH WU (B) Primary effect

(C) Recency effect

sAfaq 9uE
(C) (D) None of the above

{D)'a‘qﬂ’cﬁiﬁ"ﬁﬁéqﬁ

QA wwifEd 10.  Creativity primarily involves :

. gomrermm # @ w9

3 . (A) Logic

(A) Tﬁf Mﬂl‘gent thinking
B) 9 faufad . (C) Convergent thinking
© @ & (D) Tradition




7 s s sml e frn T

13.

14.

wia fafu § wm o6 € 2
(A) veor fafy

(B) =uiw e fafy
(C) wmams fafy

D) eserr fafy

WA AR WA SEveE o
anmmﬁggﬁ?
(A) T 9 Sargs

(B) T Srorrasm

(C) =@afnfs =1 e

(1)) =R T smaygsm

el 4 3 3m w detmfag
= T v W 2

(A) wumerE i

(B) wdwrl wfa

(C) HTANTE wyd

(D) aneif wyha

11. Who developed PS}‘flln:tl1nl3-sE 7
(A) John B.Wutsuﬁ
(B) Binet
(C) Sigmund Freud

_,LB( Carl Rogers

12, Which method of Psychological

R —

enquiry use independent and
dependent variables ?

_<".‘\‘)/0bservntinn method

(B) Case study method

(C) Experimental method

(D) Interview method

13.  According to Maslow which

human nced is highes:n
Hierarchy ?

(A) Safety need

(B) Physiological need

(C) Need for self-netunlization

(D) Esteem need

14.  Which of these is not type of long

torm memory ?
(A) Declarative memory
(B) Working memory

(C) Episodic memory

SD] Semantic memory
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I8,

T = fogi fFes g fa

o e W A R wfE @

v

A

15.

16.

17.

18.

Theory of reinforcement is 81"
whom ?

(A) Kohler

(B) Pavlov :

(C) Skinner

(D) Thorndike-

Father of Behaviourism is :
(A) Sigmund Freud

(B) William James

(C) J.B.Watson

(D) Binet

Who propagated two factor th

of personality ?
(A) Allport
(B) Cattell
(C) Eysenck

_{D¥ " Spearman

Dysgmphia is a learning disabi
which affects person's:

(A) Visual ability

ng ability

(C) IHearing ability

(D) Moving ability

P.T



19

22.

fFm ?

(A) T
(B) ¥
(C) STeTIE
(D) wm

MY TEfaTE F TR @ € 2
(A fm

(B) famis wag

(C) fawem qus

(D) fafeaw s

7= 84 8w W e fafy =

AU AEEF 3a9q ¢ ?
—_—

(A) TIEBR & SEETF

(B) fauai =1 frem

(C) frafam uftfeufaa

(D) oFge & AVMEA

Tl qedrE] AU & S s

4

£ 7

(A) 18 @ 24 a4
(B) == ¥ 6 @
©) 6 R 11 =9

(M) 11 § 18 T9

19.

20.

21.

22,

Who used the word 1.Q. first ?
e L

-,.._.--—"""-- -

(A) Terman
(B) Hull ~
(C) Allport

(D) Sternberg

Who is father of Modern
Psychology ?
(A) Binet

(B) Sigmund Freud
(C) Wilhelm Wundt

}Eﬁf\illium James

Which one of the following is
most essential component of

experimenta ?
(AY” Observation of behaviour

(B) Matching of subjects
(C) Controlled conditions

(D) Study of behaviot®

R —
Which of the followit® .“‘lldﬁ':m\
ddh
fulls under Inter o
—
category ?
" (A) 18 to 24 yoars

(B) Birth to 6 years
(C) Gtollyears =
(D) 11to 18 years



24.

25.

26.

(B) %ﬁm

(C) Fay

(D) R
W?aﬂiﬂmfaﬁﬁaﬁuﬁ
FWIIFH T

(A) v

(B) “iem

(C) &I W™
(D) 39da d | wIE =@

Teee & AY ¢
(A) W9 &9 4
B) ufedd & &1 A
() wiiA # ¥ H
(D) e F F A

gl famaa W anuTf B L

23.

24.

26.

Fitting new information int!
existing schemes is known 08 ¢
(A) Equilibration

(B) Assimilation —

(C) Organisation

(D) Accommodation

The conditional stimulus ir
Pavlov's conditioning is :

(A) Bell

(B) Food

/f-e')/Snliva

(D) None of these

Meaning of Gestalt is:
~——

(A) Asawhole
(B) Asachange
(C) As a machine

(D) As n behaviour
— .__—___-——‘——"

Who said, "Language is based or
Thinking" ?

(A) Vygotsky

(B) Piaget

(C) Watson

(D) Baron




s
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30.

UAITE 2= Y{iam ( (TAT) =
(A) ™

(B) =nfq

(C) Tead

D) M wE =

217.

28.

29,

30,

The cnpﬂbilit}' of undors!undin‘_
and discriminating the ﬁ'vling?
and emotions of oneself yund Othe,
is called :

(A) Practicalintelligcnce
(B) Emotional intelligence

_1eySpiritual intelligence

(D) None of thege

1G-PF is used for measurement of

SA) GCreativity
(B) Intecrest

(C) Personality
(D) Mativation

"Drive Theory" is related with :

(A) Leurn;ng

(B) Intelligence

(C) Motiyation
(D) Pcrsonnlit}‘

Whao developed “The Thematic
-‘\I'I'll'ft'uuption Test"(T.ATN?

(A) Murreay
(BY Morgan

(C) Edward

(DL-urray and Morgan
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31

33

34,

B Nu:.,

SECTION-II: CHEMISTRY AND PHYSICS

@ W Arm oo @ e TR
z?

(A) O,

(B) CN-

(C) Ny

(D) 0,

BF, 3 =4 i 7 £ 2
(A) 90°

(B) 107°
(C) 120°

(D) 180°

F_u
frerfafem ¥ R oifadiem o
2 lI '
qUErier &
, I ‘.» 1 N ‘I\:_"
. - -I' ‘\.” )‘:-;..
qu aliiiq . 74 i ) N t.) .L i

! L. B [
L'y Y -

%) HO\ "W

©) S0,
(D) CO,

freqiferd § @ BF T FEME 3T
(A) TERH T
(B) Sfigmifern <
(C) TS

31.

32.

33.

(D) TEfen <

34.

s ith
The ion that is 1soclectroni wi

COis:

(A) O,
(B3) CN-
(C) N,*
(D) O,

The bond angle ip BF;is
(A) 90° ‘}

B 10Ens "

(Gi 120'

(B) 180"

Among the following, identify th

linear molecule :

[

(A) H,0
(B) NH,

(C) SO, _—
(D) CO,

Which of the following is not

e

organic ncid ?
e
{A) Tartaric acid
(B) Oxalic acid
(C) Ascorbicacid

(D) Nitricacid

—



(C) aHI

(D) =jfaerw av=

fafere o= A Waw @ T ¢

(A) gEen 3med

(B) T&U 3w

(C) | awed

(D) wen amad

TeTeTel 3R FEifrEias e & drd
= A fwma o mm R 2
(A) Trgremfam fwm

(B) T=ATwRHYA fwan

(C) emrTenziaw feman

(D) ewEgINAYA famm

-1 5 HNO, 3t HCl fra
IR H T € ?
(A) 1 : |
B) 1 :2
C) 2 : 9

35.

36.

317.

D)1 :3

38,

Hucmﬂglobin L

Mrbﬂhydf‘““-

(B) Protein
(C) Fat
tD) Nuc‘cic ﬂCid

Pypical elements belong to the:
e ——

(A) 15t period

(B) 274 period

(C) 3™ period

(D) 4" period

The reaction between Alcohol ¢

Carboxylic acid is called :
(A) Hydralysis reaction
(B) Esterification reaction
{O~=Ammonolysis reaction

(D) Hydrogenation reaction

In Aqua-Regia, HNO, and

-—

are present in the ratio of :

(A) 1:1
(B) 1:2
(C) 2:2
D) 1:3



9. ﬁqumﬂ'qmamﬁﬂvﬂﬁmm
R
(A) 100 wm
(B) 4.00
(C) 8.00 uy

D) 4x6.02x10" 7w
W H fog of T T E 7

(A) BT wrt o

(B) aTHifmy

€) e & &= A

(D) Uehreta o

). T ® e % foy frefafas 9 9
&1 W faefie amavas € ?
(A) K
(B) C
(C) A
(D) B,

0 goyre e @ e & fag
< w vhem w2

i ber
q0.  ‘The musn of one Avogardo num

of Helivm ntom is:
(A 100 gram_
(13) 4.00 gram
(C) B.OO gram

(D) 4»6.02x10% gram

40. Phosphorusis keptin:
(AY-COld water
-
(B) Ammonia
(C) Kerosene

(D) Alcohol

41‘/ Which one of the following
Vitamins is essential for

coagulation of Blood ?

A) K d

(B) C
(C) A

(D) B,

42. The process emploved for the
concentration of sulphide ore is :
I|IN--_‘_-'—--—-—|_
(A) Froth floatation
(B) Roasting
(C) Electrolysis

(D) Calcination



4%

44.

45.

406.

art T R SR s e
(AY TIP3l gy

TGS 3y T h
(B) Wiz ahy W2y Wi
3wz
© wifgan aflr wjapem =
ElEEnpiET:

(D) Wfevrm afin dAeleom @
AEFEE

@1 W= B, Si, 3 Ge F0E 2

(A) wrg

(B) 31utg

(C) <U-H1g

(D) WIg, AU R F9-u FHw:

T € ¢

(A) wfafwa 9 @

(B) wfafsan ® Sewifga

() whafwa & wwfem &
(D) TEEfE wiEds ¥ e

feferia T HI9 95 ©, 96
Tl 3R ey faerm | 3 1,
b

(A) ¥ IR Hen

(B) fren 3w

(C) TamEt 3l A

D) TEA R T

1. Permanemt hardopess of W

pter s

'I“" tul I“' '.r"ﬂ|'fl|“lt "f -

A Chilonrides BT “'ll'h“ll'.ﬁ )
e e nne lﬂ::;:m-nillm

(I Chlurides il .‘”["h“tl.'!i of

mpehieain sy Prtissium
A2 Bicarbanatg of wodinm #nd

potassiugg

”]] “iﬂlfl’.ﬂ'lrmlus of enlecium i
mungnesium

4. Three elements B, 8i and Ge are
(A) Metals .
(B) Non metals
(Cs Metulloids
(D) Metal,

metalloid respectively

non-metal and

45.  Acatalystis:

(A) Consumed in reaction

(?/Pmduced in reaction
(C) Not affected in reaction

(D) Undergoes chemical change

46. Phenolphthalein is a synthet
indicator and its colours in acic-

and basic solutions, respeetive!
e

are:

(A) red and blue

(B) blue and red

(C) pinkand colourless

(D) colourlessand pink



|

49.

0.

2 IFEEAE forerm 3§ WO B

(B) T fag

47

© foiw fasg
D) IAeifes <

1

»_Amjﬁ’-h‘&mﬁﬁqqﬁm‘ﬂ Imfm ¢ 7
(A) T s

qI ?ﬁ L icilen| el Ul g it

& = w2
(A) 3IETg |
(B) 3mwigm §
() fewgm
(D) fad smwa 4

e g # A @ W FE
fafimarie & ?

(A) Na

@®) K

) RP

D) C*

47.

(15)

a1 hav

S .

48.

49,

50,

e

(A) Vapour pressure
) Builing point
() l-'n.--:zing point

() Usmnl'u: pressure

Moderq neriodiclow is based on:
(A) Atamic size
B) Atomic mass

! Atomic number

(D) Atomic radius

Sea water can be converted into
N ——————

fresh water by :

(A) Osmosis

(B) Sedimentation
(C) DifTusion

(D) Reverse Osmosis

Which of the following among the
nlkali metals is most reactive ?

(A) Nu
3 K,
(C) Rb
(D) Cs

P.T.0.



51. mm&mflanafmmﬁmﬁfqﬁ
{:“mﬁ'm'
(B) ¥R frm
(C) wrau frm
(D) gEu fram

52,  TENM T 35 3M 37 W AF AW
AR fom arwm o AR ¥ 2
(A) 1 :2
(B) 2 : 13
(C) 3 : 1
M 3 :4

. frefafan § @ FR W 0
yrg F WY U a9 (amalgam)
. w7
(A) T
(B) fa -
(c) &
(D) W

54, w13 faogs 2 @ f9 U Faw 9
sfufir o @@ T8 I @ €,
W@ B T w g R
59 faerga o @& wm ?
(A) NaCl
(B) HCI
(C) LiCl

(D) KCl

al,

63.

54,

Which lnw of thermodynamics

introduces the concept of entropy ?

——

(A) First law

(B) Zerothlnw .~
(C) Third law

(D) Second law

The isotope: of Chlorine w +ith mass
number 3:1 and 37 exist in the ratio

i i
(A) 1:2
(B) 2:3
(C) 3:1
(D) 3:4

Which ol the following metals f'qrm
an amalgam with other metal ?
(A) Lend

(B) Tin

(C) Zinc

(D) Mercury

A solution reacts with crushed egg-

shells to give o gas that turns lime-

water milky. The sﬂutinn contains:
(A) NaCl l-
(B) HCl <

(C) LiCl

(D) KCl



5.

57.

38,

SET T 2wl €
G

N T anm

M Weswigs

(C) i

D UeHwig

Rodenticide g # 2

A T W A F fm
kel

B) I F ARk F fon o
LGl

C) & Few

(D) HTEAIH

e fagra w1 snfaerm & -
(A) wEE

(B) w=m i

(C) w1 BIeed

(D) s’ IR

fem wrr 2fen g Frefafian o 3
f0 srpnfm wen smm € 2
(A) #Fa H IW

(B) wfemedl i amy
(c)'qﬁa?rﬁtﬁm
(D) wugell ® &

OHh.

- i

Butanune * four-carbon

COMPOU | vith the functionnl
proup —

(A) Cirthoxylie i)
(1) nhlrhych-
() ketune

() itleohe)

—""".

What is l{ndonticide ?

e ——

(A) A medicine to kill warms

(B) A medicine to kif] animals

(C) Alubricant
(M :\]’K‘S!it’ide

The inventor of the atomic theors
is:

(A) Rutherford —

(I Maddiam Curie

(CY John Dalton

(I Albert Einstein

Which of the following is estimated

———————e

by the rudo carbon dating ?

(A Age of the human being
(1) Ageofthe fossils _—
(C) Disease of the human body

(M Purty of the metals

PTN



59. el ot wmm W wngkem s W
T 10+ M ¥, s wrgeme
ST F T e
(A) 10+
(B) 10-M
(C) 10-10

(D) 10t

60, ifsn'raﬁmm;ﬁlmaﬁa’mm:

6l. TTH! TR 3N W @ w W
TR E )T R e nhie s
afw & 7 -

(A) TTht T8

(B) i =g

(C) A o wm = &
(D) 7 A F§ 78

69,

GO.

G1.

The hydrogen ions concentration
in any solution is 10-1 M, the
concentralion of hydroxyl ions in
it would be ;

(A) 101

(B) 10714

(C) 10-10

(D) 104~

The phenomenon of radioactivity
was discovered by ;

(A) Henry Becquerel

(B) Rutherford

(C) Pierre Curie

)Bﬁlndnm Curie

A light body and heavy body have
equal momentum, Which one hns
greater kinetic energy ? '

(A) The light body

(B) The heavy body

(C) Both have equal energy
(D) None of these



::,': W ] g TEN T w7
- : R T B, m T
(A) Far

(B) W

(C) 3'{"-;‘[7_';“

(D) W= T

62.

Te a3l

A waem @ am A9
TR T@ @ AT T &
(A) 1x1036
(B) 2x1039
(C) 3x1040
(D) 4x1042

' uﬁﬂ‘mﬁaﬁaﬁ‘mmu’r‘aﬂu

o1 T e € 7
(A)

(B) Tl
(C) St & @g @ o

(D) = 2 @i T @

da & @@ fam @ e, IR
wfiaa ) g W, @ e S
ﬁﬂiﬁlﬁaﬂqm:
(A) g ¢

(B) wem ¢

AT YA e
(D) R v 2

. 1c iﬂ
The foree netingg on © P“ruc .
olocity*

nrtn itsV .
je Wi“ hee

02,
nlwnyn In-r'lw!'ll'lil'.!l‘
then thie path af the pnrtic
(A) Clirenlnr ‘

(I Parnbolic

(C) Elliptical

(1)) Steaight line

I'he ratio of eleectric '}E’g_hﬂ

grnviLatinnn!_fc_g_t_:_t_.;__@j_in__tcfﬂc“"“
between two electron is about *

(A) 12103
(B) 2x10%°
(C) 3»10%0
(D) 4x1042

G3.

A capacitor acts as an infinite
resistance for:
(A) DC

(B) AC

(C) DCaswellas AC
' (D) Neither DC nor AC

64.

S

65. According to the Hooks lav
il

elasticity, if stressis increased

ratio of stress to strain:

(A) Increases

(B) Decreases
" (C) Becomes zero

(D) Remains constant




i

67.

G8.

J-2003-Series.n

| %

aefre & 9§ wiem w® WA
fgn Sl €

(A) Wl T Wi ) 77e @ A
(B) 9§ T W =gH A fam
(C) wfitt @l =t 3w 371 % fem
(D) ¥ | F§ T8

afz frt favs = gomm g w9
T WM B, U9 W @ 6 i
W FAAN IRH WOBOM :
(A) M

(B) 3=

(C) M/6

(D) N/12

Spokes are used in a cycle wheel:

66.
strength of the

(A) to increase the

wheel
to incrense the moment of

inertin
(C) to give better shape to the

wheel

(D) None of these

67./ If the mass of a body is M on the

surface of earth, then the mass of
the same body on the moon
will be :

(A) M

(B) Zero
/0/1\:15

(D) M/12

TSR RGN F W fom WA S E S 8w s

T -
LRI
M A T Y v §
(2) W mEm
@)  wIa

@ @ faf R 0 g
(A 1.d,2.,3-n,4-h
€ 1.d,2:b,3-c, 4n

a1l
(a) vofa: @R 2
(h) wfienfc
(¢) TFRH Wiy
(d) wIw aTmE

(B)  1l-¢,2-a, 3-b, 4-d
(D) 1-b, 2.4, 3-a, 4-c

.(20)



65.

the code given helow @

(1
(2)
(3)

(4)

(A)

Column |

Rain drops are sphericn]
Heart attack
Quartz

is dri ncla
The sand is drier tha ,_,..l

l-d, 2_4’!. 3-.11. 4-'3 5

(cr” 1-d,2b,3-c,4-n

0 A IWMAIADB TAE T TWE )
S A STl Al I A W
g wT € ¥R IW B ST WEI

@tgmﬂ?ﬁﬂqﬁ‘ﬁii

(A) 2:3

(B) 4:3

(c) 3:4

(D) 3:2

Match the following terms in column 1 and 11 und select the correct an

(0n)

(h
(¢)

td)

(B)
(D)

69.

swer from

Column 11
Perfectly elnstic
Capillanty

Bernnulli's theorem

Surface tension

1-c, 2-a, 3-b, 4-d
1-b, 2-d, 3-a,4-c

Two solids A and B ﬂclzii_nl:g_ter.

The solid A floats with half of its

volume immersed and B floats with
2/3 of its volume immersed. The

densiticsof A and B are in the ritio

of:
(A 2:

(3

e S Ca

(C) J:
(1 J:

(]



' ﬂgﬁﬁ!’l’l%:

70. Bohr's magnetonis:
. ———
ch eh
(A) St (A) ﬁ_r;_m
om em
(B) 2nh (B) 2nh
¢ _
© 2nmh () 2amh
h h
(D)
M 2ame 2nme
. ieHd SR W Wy fewd | 71, Optical fibres are related with:
oY g ?
(A) communication
(A) H9R
(B) light
(B) w&m
(C) m (C) computer
(D) 70 | +13 =@l (D) None of these

72. W& =faa 10 W I E AR, e | 72

A man goes 10 meter towar

20 WA & 1 i v € | safm @ north, then 20 meter towards e
fawmm T The displacement of man will ¥
(A) 22.5 iR (A) 22.5 meter
(B) 25 T (B) 25 meter
(C) 25.5 =zt (C) 25.6 meter

(D) 30 #H=x (D) 30 meter



13 aft A+ | = AT . W 7ifzm

A MU F A wm o T T

(A 0°

(B) 456°
}C} 00°
(D) 6o

., frefafoa ¥ 4 @R fed wo &
Y W ﬁﬁ! @ faufon = 2 2
(A) Tifd

(B) =™

(C)

(D) (B) 3 (C) =

S
5. v TN i gl v, i @
3 el A 7 v, | m o,
@
_ 2vyv,
(A) V“_Vl+ vi —
_ iy
(B) |V"“'“'«.'ﬁ v,
vitv,;

(C) Vo= 2v, Vy

v,+ V,

(D) V.= v, V;

.

74.

75.

AT = A =T, the ongle

bt wrenen K anrl -H will bt

(A o
(1) 45"
(Cy 90°

(D) 60°

Which of the following determines

the nature of path followed by

particle ?

(A) speed

(B) velocity

(C) Acceleration

(D) Both (B) and (C)

Whena particle moves first halfof

the distance at u speed of v, and

second hall of distance at speed

————ey

Vo, then:

aw gr

 raend S )

@ Vo= =
L S N

\ = | [ |

Vo= S o
¥ - \.I"

© Vo= 5o
L Vy

m Vo T



78,

79.

e FOMITOMM A sy

et = A Dt 2 I

ot

-

AV I 3 iy

R W3 W1 sty

-

TSR 2ol S IR - K1 B

Mg apmfin v

— - »
S ST OWIRT owmm o

A a5

B @ saw
) favm

(D) =

(A) 10° pauss
(B) 10— gauss
(C) 107 gauss
(D) 107 gauss

fasii Wi & 9@ w1 9@ & uy
a3 w fgw www A R I
e zen 7
(A) ©Tqada
(B) edfaeTm
(C) fauda
() wuada

76, The reason nl'shining o air by
inwater i{'!-i——ﬁ SN
(A) Diffrnction of ligrhy
(1$) Dispersion of lighy
'L‘ﬁl‘il“f'rillﬂ of lighs
(D) Total interng] reflection
7. Watt hour meter measures

(A) Electric energy

(I3) Current

.(jll"\’oltagu
(D) Power

78.  Oneteslaisequalto:
(A) 10? gauss
_(B) 10~ gauss
(C) 107 gauss
(D) 10-7 gauss

79.  The bottom of a container is filled
with liquid uppear slightl¥ raised
because of :

_‘Amtufructiun
(N Interference

(C) Diffraction
(D) RefNeetion



R i LA a0 oy s ) O Wive whicrh ean not teavel 10

B

(A M ’:L‘I‘L"] SRR T
(BY 2ygrn L Y I A Fivy

fu‘r”lllfr.lnllnll“
()

O T e inlnt

I bty mn N Bavelin s

I —— - g ot - ; T ; : 3 ¥
TR [LLUNR et £t T S L bR A Bl Awireof 1000 Ohm and leneth [is

= 91 anpd oag AUl farm o, mnereased to twice of 1ts ariminal

7 TR ST OSEHNT P

length The new resistanes 11

Ay <000 FIEE (A) 4000 Ohm
9

(B) 2000 Ohm

(Cr 1000 Ohm

B 2000 TR
a
©) 1000 TR

g
Dy S000 (D) 5000 Ohm

PSSR ¥ OTEm w9

!

2 =

3

o . §2.  Velocity of light in a medium is
LS 10" FATIE | T ST

: . 1.5x10% ms=! Its refructive index

will be :

lA) 8 (A1 =
B 6 B 6
b -
() (.4
[ o
D) (2
77 A WEa vE faim
)’/:1 ' g e 83 Isothertmial process vecurs at
[ vunstant
)m 'T'ﬂ A\ ““_‘L
(B, nm ll‘l I';‘-.v:-lllt'
() Ay W Pempeeatune

(py W H S

N Temperatuny aid pressone



5.

86.

et A fmm. 3t widn 2N | 84

The kinetic energy ol boqy of my,
o T LE B I 0 e S L1 I

3 Kz 00 MOMENUM O Gill

—_—
T (A 1d
(R 1:1 (1) %-’
(4] g.l _.:_{,-'-y’;'-;d
(M 44 (D) 44

100 73 T&=mm aren fis 15 WAl | g5 A body of 100 g is mq.;. ., with 4
T A AT W T | iz my Tt

velocity of 15 'm/s, e momenty~
g S99 T - wit thl:-bnd;;u.-mh.,-_
(A) 1.5kp/s? a{%_}l

e Q ] (A) 1.5kg/s?
(B) 1.5kg rnfs Xjﬂ E ﬁﬂ} BT 1.5 ke m/s
(C)%}m

(C) 2.5kgnvs
(D) 32Ns

(D) 3.2Ns

VE THUAEE T % fom, 4 fafire 86.  Foradintomie gas the ratioof t

e ——

T W FWE (C/C) T o

(A) 1.66
(B) 1.40
(C) 1.33

(D) 1.00

specific heats of a gas t(‘i,f'L,,} i

(A) 1.66
(3) 1.40 .
() 1.33

(D) 1.00



89.

%,

SILM. ¥ fmi) o 1 7 3
fefd A frerm o ow

(A\) 'W

”3) “'l\‘ a’ __:‘.2'

(C) (y

I:I'F——_

IFV & IATEd FTFEH H IEH
7 fau feg fusn = 399 wim
€ 2

(A) HW THH

(B) @t

(C) =FOH TIT

(D) w13 1793

vw S MTEH A s i
o T f o

(A) Ve LI?

(B) 2LI*

(c) L

(D) Zero

o T i $E Egen # 7

J9nne carie™ D

87.

88.

0,

89.

The velocity of particle in S.H.M.
al displncement y from the mean
posilion ix:

(A) Vot 4y

(13) 'Jm

(C) my

(D) i = ¥

e

Which of prism is used to see
infrnred spectrum of light ?

(A) Rocksalt

(B) Nicol

(C) Flint

(D) Crown 1793
—_—

The average power dissipated in a
e

pure inductoris:

————

(A) 4 L
(3 2 LI¢
() LWL

(I Zeru—
Which of the materials is most

vlustiv L —
() Lilas
"” I:u]llll‘r-’.—
() steel
(1 Quart?
nT.0.



SECTION-III : MATHEMATICS

) ’q
Q@ﬁ%
@ 10.25%

(D) 7.25%

uw U 4 FU_§ HRY TN W
mﬁﬁﬁujﬂaﬁrﬁlfmﬁ
adl § Wg | Ame T W
g ? )
(A) 24 7@ |
(B) 257 W
(C) 267 o
(D) 287 o

93.

91. Simplify:

1
2+1

|

+

Ca
[

e
+
Bl b

18
13
17
(B) “

o

If radius of circle is incr
5%, then the percentage it
inits area is: o
(A) 9.25%

(B) 8.25%

(C) 10.25%

(D) 7.25%

(A)

AN\

A sum of money doubles i

i

years nt a simple interes
F'-—_—-—"

many years will it nmoun
times Il‘-l‘lF;-— -
(A) 24 years

(B) 25 yenrs

(C) 26 years

(D) 28 years



Lo N e el w2
(A) 32
() 28
(© 11
(D) 35

-

- 1 -
S () T WH ORIM :

(A) 161
1

256

(B)

(C) 16

(D) 2

5. =k warm A s uw fom
UF ¥ WMA 3N OF W OTER W
TRER AW & dra v, a1 B
s RN WA w e A

e T
(A) 1

)Ji

(C)

L B

n

=) S

(n

20048-Series D)

(29)

tlecagon ?
(A) 92
(I 28
(C) 11
th 35

[ % {]
5. ““;-:h i!ll?qllﬂltﬂ:

Msl

1
(B —

256

(C) 16

(2

I
@L How mnny dingonnls are t',/

1OTE i

96. Ifn purallelogram nnd a triang

are on the same base and betwes

the same parallels, then ratio .

area of a tnangle to the area |

parallelogram is :

(A 1

(1)

1S]

c) 2

(1

1ol

P.T.Q



08,

99.

%
—
Sl ol

| 1

—
=)
pa—

411 I

UF 24 A, w1 T 20 [HL F

ﬂmm?:mt{mﬁmisrﬁ
m’mm?ﬂwwﬂ
(A) 16 ™

(B) 18 7wl

(C) 20 .

(D) 14 ..

97.

98.

99.

» q
If sinA= E.thon tan A=

.......
.

(A)

S o o) e

(I3)

=1

(C)

(o | -9

(D)

g x 0 =
(A) ¥2

(B) 3V2
-

(C) 4

(D) 2

A pole 24 cm. high castes shadow
of 20 cm. The height of tree, if it
castes shadow of 15 m under
similar conditions will be ;

{A) 16 m

(I3 18 m

(C) 20 m

(D) 1em



100.

101.

tﬂ'ﬂ

--""""-.
e

C 1._ '
)—-l‘m )
x4y

(\)

t3 A

L3

(B)

(\C)

3=

— —

()

X3 =wie & @@ e W g
waal qEn Tl fom yew wfafe

0o 1 E 2
(A) 27
(B) 18
(C) 81
(D) 512

(C)

(D)

)Tﬂtﬁ.

100, tan™ )= tan™ (==
Y x+)y

to:

(A)

& A

(13)

A

(C)

-l

(D) 2%

101.

oforder 3x3 with eachentry Oor 1

15

(A) 27
(B) 18
(C) 81
(D) 612

¥ -l 7“ Ll
vos (eos = |isequalto:

a

(\)

-
3 l
-

-
-
=

{4

=l

I3 =

(C)

=l =

x-—y) . eque!

The number of all possible matrices



103.

104.

105.

J‘ 10x" + 10" loge™

lu'l+ rld fLr W f: H

(A) 10¥ — 10 4 .
B) 10%+ 104, ~
(C) (10* — x10y 4 ¢

(D) log (10% + x10) 4 ¢

feum wrftwn .

28+ Kx+3=0 4 K =1 w9 7
', AR Wi F % o g
B ?

(A) =56

(B) +3V6

(C) =2V6

(D) +V6

10.5 R, =90 At AMnTeTaRt FHER
H feen oz gu oon wEm @ 2
(A) 0.303 wiret

(B) 3.03 @A

(C) 130 @i

(D) 3 d=

102" + 10° loge™
103. dx equal to;

104.

J.

L]

10° + x°

(A) 10— x10 4+ ¢
(B) 107+ 210 4 ¢

(C) (10° = x!19) + ¢

(D) log (10% + x10) + ¢

For the quadratic equation
2 + Kx + 3 = 0, which have two
equal roots, then the value of K
will be:

(A) =5V6
(B) =36
(C) =2v6

(D) =vV6

How many )i il n
many litres of milk ean

hemispherical bowl of diameter
10.5 em hold ?
—

(A) 0.303 litre
(3 3.03litre

- (C) 3.30litre

(D) 3litre



106.

107.

108.

J-2003.Scries-D

W BT i wwem e
T YR 3R W B T T @
W, A B A R
“ﬂ'&iﬁﬁ’;ﬁqﬂﬂﬂ:

(A) 3w Thn &
@ﬂnmt’rmi:u

(C) = T e #

D) ¥ | =

54, a3 WA, e am @
7a =1 fageil W sfredz 7@ & aon
STH A h A" W 0 4 A

2, e s S W e

451 S

(A) 6 |
(B) 9 Al
£er 12 1.l
(D) 3 a.

2.56 T THA T :
e
(B) 16

(C) 0.16
@) T/ wE T

(33)

106G,

107.

8.

mo
Ifn trinngle and pnrnllelui—"’“ fie
- " n
on the snme base and bet¥W ee

o a0

same parallels, then A7

trinngles is equal to: (
0

(A) Half the

parallelogram

arefl

(B) Equal of the area of
parallelogram

(C) Double the area of the
parallelogram

(D) None of these

Two circles of radii 5 cm and 3 em
intersect at two points and distance
between their centresis 4 em, then

length of common chord will be :
(A) 6em

(B) 9cm

(C) 12cm

(D) 3em

The square root of 2,66 will be :
(A) 1.6

() 16

(C) 0.16

(D) Noneofthese

P.T.O.



(9. TF TEAE W 3 m@ @d T

110.

111,

wn m"—_r:-rm
wmmm'un i’:).?ﬂ‘%ﬁ
@Wﬂﬁa?

C
(A) 25
(B) 28
(C) 30

(D) 12

o NEH & 9w 3 105 F IR
TRl OE |
| 54000 % & @ gfz ¥ wH

IAHE daq U :
(A)
(B)
(C)

| 40,000 T
1,688,000 .
1,50,000 %.

(D) 1,52,000 %

(B) e'+e'=¢
C) e*+e'=¢
(D) ¢'+e’=c

| qia =

\

s

!

109.

110.

111,

A foothall team won 10 matd,
out of total numberofmatchest,
played. If their win percentage;
40, then how many matches g
they play in all?

(A)
(B)
(C)
(D)

A man got n 10% incrense in h

salary. If his new salary

Hs.l:;rl.ﬂ'ﬂ[], then his origin
salary was: . ‘
(A) Rs.1,40,000
(B) Rs.1,68,000
(C) Rs.1,50,000

(D) Rs.1,52,000

The general solution of tI

differentinl equation -g% =c'"i

(A)

e +e’= c
(B) El+ e’:c
(c" E-‘-F- [:'T=c

{DJ f.'-‘-l' ﬂ-r= c



112,

oly
Wﬂﬁ'ﬁm:ﬂ
(\Y &7
II;] l“
|C’n-l-
h §
D) a
113. & 99 @ 4@ =7n 3o @m
W FH W WY A faum gen
1
(A) —
) 5
3
B) =
1B 5
7
[ i
C) 5
1
(D) 5
114. =gl (25, 0) 3 =ThHal (24, 0)
3"_1
A) g+ 5=

J-2003-Series-D

(3

112,

113.

114.

The integrating fﬂ'EEEL. P
0
the  differentinl equi®!
Herentiol
v Y ymae
" olx Y =axt s
(A) ¢
(" &
|
(C) -
X
(D) x

A die is tossed thrice, then the”
probability of getting a odd number
atleast once will be :

(A)
(B)

(C)

o] = o) =1 O CO OO =

(D)

The equation of the ellipse with

vertices (25, 0)and focit=4,0) is -
—

&N

(A) TR =1
L

(I 0 + f'.!?.' =1
yvoox

(C) E ' i |

(1) Noneofthese

P.T.O.



115

116.

17.

= "ASSASSINATION" 3 T&h
W AT T T E, 0w
T (Vowel) ¥ i WA

o
t
}Mﬁ

7
(B) IR

(C) 1
(D) 399 A T el

134294 374 42 4 ... + nd U

g
nin+1) s/

(A)

(B)

L 2 ],
(nin+ 1D

9

(C)

(D) T4 4 w1 e

@vﬁmqwﬁwﬁ'zﬁn_qﬁgﬁm
TR, W T EE W fe
femt ww =1 ®w Tmom 2
(A) 2

(B) 4n

(C) 12n

(D) ¥ ¥ w7

115.

116.

117.

A letter is chosen at random f
the word "ASSASSINATIQN" th,

the probability of letter Vo,

will be:

(A)

|~ Zle

(B)

o2

1
(C) 1

(D) Noncofthese

P4 224+ 3+ 42 4 s + n3isequal
to:

nin+1)

. 2

nin+ 1)
. 2
(C) [ n(n + 1) ]
Tz
(D) None of these

(A)

(B)

2

A wheel makes 360 revolutions in

one minute, Through how many

. &
radians does it turns in one
second ?

(A) 2=
(B) 4x
(C) 12n
(D) Noneofthese




W:?
3
A)
@ 53
8
225
7
(C) —
226
G
18 Soeni
3°G'3 ﬁﬂzmmw1$whi,

(C) 4:3:2

(D) 3:2:4

1 .1
120 @ x+ =3 o, @ s W

m'm :

(A) 9
JB«}/E'J' -
(c) 18

() 21

118.

119.

120,

16x10'x 3" _,

6" x b '
3
n26
8
B) —
®) 2
7
225

6
220

(A)

(C)

(D)

1

: 1 1.
Simplest fnrmofa e 715°

e —

(A) 4:2:3
(B) 3:1:2
(C) 4:3:2

(D) 3:2:4

When x + % = 3, then the *.rnlue of
O+ ‘% will be:

(A) 9

(B) 27

(C) 18

(D) 21



122

-

GCTION-TV : GENERAL AWARENESS INC
SP ADESH CURRENT AFTAIRS & ENVIRO

e wif f b © 7
(A) ToA WTeT

(B) TR W

(C) = i

(D) ST SYS=! Al

S/ @ | sm ﬁagq{iq;mmﬁvm-' -

5 w1 WO & g, 3 wEd €

LUDING HIMACHAL
NMENTAL STUDIES

121. 'Blue Revolution'is a drive for:

~

(A) Fish farming

(i3) Poultry farming
| () Indigo [arming
water

(D) Making drinking

available

€
Rate at whic}@e Bank of
~N

Indi:@*lonns to the
%‘wgﬁrﬂnl bank iscalled ..............

122,

>

*q; Credit Rate

(B) Loan Rate

M Rate

(D) Discount Rate

123.  Non-Permanent members of the
U.N. Security Council are elected
for the period of

(A) 2yenrs

() yeurs

(C) A years

ll” b years



124.  ffafea 9 @ fFg arae flbeen
@1 S w2
(A) 3T
(B) fedifren
(C) femmmelst

(D) TUReRd

126, TG gud
yq ¥ fwd

127 wERU A T WA A GERe
e g R 2
(A) =T g}

(©) @ T e
D) = M s

121,

125

126.

Which among

¢ is
the {'ulluv.'ln[-‘.'

th(!
rognrderd an the father of

Waestern medicine ?
(A) Alcmnen

) Hirophilus
(C) MHippnerates

(1)) Paracelsus

Which State is rt:nowncd for
Sandal wood ?

(A) Karnataka

(B) Tamilnadu

(C) Maharashtra

(D) Andhra Pradesh

Who was known as ‘Nightingale of
India' during the Freedom

struggle ?
(A) Subhadra Kumari Chauhan

(B) Surojini Naidu il
(C) Mahadevi Verma
(D) Noorjanhan

Who was the first to be honourd

with the Bharat Ratnd post

humously ?
¢X) Indira Gandhi
(B) Sardar Vallabhbhai Patel

(C) Lal Bahadur Shastri
m Dr. B.R. Ambedkar



130.

131.

J-2003-Series-D

q v@n T T 2
@A) FeE

(B) TR

(C) =it

(D) T

T G T TR 9 SRTE T
T € |

(A) fem 2 am %= 2

(B) fafen @

(C) Toml A feirm

(D) @ 35w frafm

'y S W i smen | we
T T ?

(A) T W fdle

(B) T=n @ed fdle

(C) gl Tae

(D) TMIRL T

1957 ®# Wfem ‘i S @
Foay T 9 ?

(A R == e

(B) @nww fut

(€ @l umE= foF TR

(D) Tm=m FHAR

128.

129,

¥30.

131.

(40)

\Which gas is used to ripen th,

fruits?

(A) Methane
(B) Hydrogen
(C) Ammonin

(87 Ethylene

The title of Netaji Subhas Chandra
Bose's nutobiography is:

(A) Blissit wasthat Dawn

(B) Living an Era

(C) Roscesin December

(D) An Indian Pilgrim

Who brought the idol of

Raghunath Ji" from Ayodhya to
Kullu ?

I8 Raja Jagat Singh
(B) Raja Kchri Singh
(C) Prithvi Singh
(D) Damodar Dass

Who was the Chairman of the
‘Territorin] Council' constituted
in the year 1957 ?

(A) Thakur Knram Singh

(B) Virbhadra Singh

‘C) Dr. Yashywant Singh Parmar
(D) Shantg Kumar



132,

142
ad

134,

e w1 wa g e U
FR W W e ©O7

(A) |Tw

(B) ammon

(C) feaieil

(D) fagnia

UERIEl fgm ad Tl ?
(A) 1864
(B) 1871
(C) 1876

(D) 1888

sish

”H{//\Vlll'-rﬂ i Anin's bippest

Lireauling, centre tnented ?

(A) Snral

(1) Bangnnn

(©) Deali _

(D) Chirgaon

133. Who wrote the book
Kahani'?
(A) H.K. Mittu
(B) Dev Raj Sharma

(C) Lal Chand Prarthi

(D) E.J.Buck

134. In which y

Summer eapital ol British Raj ?
(A) 1564
(3) 1871
(c) 1876

(D) 1886

"Kulut Desh ki

ear did Shimla becom¢e



36.

Y
-1
Ll

38.

WG S99 SEE WEH HEl
syafeud & 2
(A) e

(B) TR
(C) fsmem

(D) =1

2019 &1 Wfed & FHE YR
= S ?

(A) Wi TiEg®

(B) ATerm RS

(C) <=3 dracH

(D) fafaam <. wsfam

@ IfEd UEY TR @ §Um
TW-TAA FoIMY frad o ?
(A) T oM me

(B) ¥HN THEw

(C) TaYE. W3
(D) w9 wfes

135.

Who was Amrita Shergil ?
(A) Actress
(B) Poetess
(C) Dancer
(D) Painter

13 mrhich is t.hl:e.seatuf Indian Institt

137.

138.

of Advanced Studies ?
(A) Dalkousie

(B) Sundernagar -
(G} Shimla
(D) Una

Who won the Nobel prize fo
Literature 2019 ?

(A) Peter Hnndke/

(B) Olga Tokarczuk
(C) James Peebles
(D) William G. Kaelin

Who was sworn in as the first Lt,

——

Governor of Union Territory of

Lachnkh ? /

(A) Radha Krishna Mathur
(B) Umang Narula
(C) S.S.Khandore
(D) Satyapal Malik



139,
ynl !"'"‘*'“r“}

g T
o Erarg WP Ien wweem | 1o
B ¥ 5 ’

Anvinar ol foaelin ”

\ TR ’lrﬂ!li'llt antnt

ol Honppnar Ceaptdt

(A ;
) ﬁ-Fqu M vy 1A Vine

(~ Avy Agin Deeend
\L_’/

191 Cienernl apan B

(B) 3wt wivis

;rﬂ'lﬂ.

(C) SFwa falya it
(In Injinder Khanna

(D) wei= TN
140. 3 L lea2lNED w2 1407 Who is the founder of the
Aryn Sumaj ?

t: it arfeEY (A) Swami Vivekananda
B S (B) Swami Agnivesh
(C) TS (er Swami Dayanand
(D e o T (D) Pandit Vishnu Shastri

] 14T, Which Gas was released during

141, A T
Bhopal Gas Tragedy ?

(A) Sodium isocynute
(I Ethyl isocynate

‘ - -
(M Potassium isoeynate

©) Grafgram ST

(1 Methylisoeynate

Yreal 311511"1'{117:':!2

m) T

(43)
J-zon?.-seﬂcs'” P.T.O.



143

124,

145.

o form A TGP 2l
§ 7

(A) AT

(B) wfan

) T feei

(D) S

fo=h w WA O W eng wIfen W
o5 G w1 ARA WEfad F @
7 of=m fam ?

(A) 73 faer 9=

(B) o4 fazam

(C) 7T=TZ M9 T
(D) = e

‘TR TR 9 fam wra @
m E 7
(A) T ) Tl wefy

(C) T
(D) SHEE &1 397

Az,

144.

145.

In which Indian state is the
Tawang Buddhist Monestery
located 7

(A) Sikkim

(B) Arunachal Pradesh—

(C) llimachal Pradesh

(D) Bihar

143—Where is the headquarter of the

Asinn Development Bank?

(A) Manila~
(B) Beijing
(C) New Delhi

(D) Tokyo

Who accomplished the feat of

——

throwing 1 bomb on Lord Haﬂinge
in Delhi's Chandni Chowk ?

(A) Ras Bihari Bose /
(B) Basant Bishwas

(C) Sachinder Nath Sanyal

(D) Zoravar Singh

Which branch of knowledge |

——

known as Demography ?

(A) Mode of the governme!
functioning

ABY- Activities of democracy

(C) Geography

(D) Study of population



1:48.
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147.

148.

Jt
How much time tloun l'ﬂ"“““‘*1t1l

tike Lo rench the enrth?
y 1.9 pecants

(i 1.6 peconds

(€3 1 second

(D) 2seconds

From which Country amendmen"-
h_.____-.-"'.

dure of Indian Constitution

procedure of InQI8S ==
has been adopted ?

(A) US.A.

(B) Australia

Muth Africa

(D) Canada

When the use of Electronic Voting

Mnchine has started in the Vidhan
Sabha Elections ?

(A) 1998
(3) 200Q

(C)y 2002



(40, et @i W wesEE ol e 149, At which place samudh; of Rinj

= W Efem € ? Jhunsi Lukshmi Bai is silunted ?
(A) TR (Tafean) (A) Lashkar(Gwalior)

(B) Frerdl m

(C) Zs (C) Jhansi

(D) =fean (D) Datiya

130. = 99 ¥ w=m @ 9 wiads 150. In which year Madras was

~ =% ® 'Y T "M ? rechristened as Chennai ?
(A) 1998 %. @
(B) 1985 3. (B) 1985 A.D.
(C) 2000 %. (C) 2000 A.D.

(D) 1998 2. (D} 1980 A.D.



